@® /B = /CAD ©°|t}.

@ /B ¢t /BAD 9] Z7]9] -2 65° o]rt.
(G)BD 9} AD © Lol Az 2

@ AABC 9} AACD o] R7}te] 27]& R Pt}
OLB ¢} /BAD 9] 27|= Zth,

Lol A2 thth
® /B =50° /BAD = 15° ©|2& F7]& tf=2o},

® AABD 9|A /B &} /BAD ¢] 27|17} tt2E2 BD ¢} AD ¢







the o4 AABC = BA = BC ¢ 0|58 ztgo|th, AC = AP
ojxl /C =724 W, /x + 2y O] 327

A

® 64° @ 66° ® 68° @ 70° ®)72°

AACP = AC = AP 9l o] 5HdZgo|ng
LAPC =T72°
SoLx 4 Ly =T2°




4. AABC A /B ¢} /«C 2 2719 v]=2: 30]1, AD = BD = CD
7V =5 D & %2 wl, /BAD ¢ 37|=?

@® 30° @ 32° 3 34° @®)36° ® 38°

S5 ~
$] 1o 4 AD = BD =
AABD 7} o] SHAZI o2& (- BD = AD)
AABD = /BAD = /B
AADC £ o] 5HAZgo|BZ (- AD = CD)
(DAC = /DCA = /C
/B:/C=2:3o /BAD:/CAD=2:3

2

9
/BAD = —=— % 90° = = x 90° = 36°
2+3" 5%




ZIALZYY WeFo] FolE oS T1H I} 7o)
A9l v, /BCD = 30° o|t}. o]d, /BAC
o] 27)& “Fotofet,

@ 100° @ 110° @120°

@ 130° ® 140°

(BCD = /BCA = 30°
(BCD = /ABC = 30° (3%)
/BAC =180°-60° = 120°




o2 I™oA H I+ AABC S Yot «C=60°% o, ZADB £}
{)

/AEB ©] 37]9] te9
ol sEAoltt)

A

607

B X

@ 200° @180° ® 160° @ 140°

(2, AD ¢} BE= 27t 2A 9 /B o] U2+

® 120°

B

AABCOfA Al }Z+9] gto] 180° 0|2 =
2042x +60°=180°

o+ x=260°

A2 o) Al Wizhe] g2 180°01B =
(ADB = /x, /AEB = sy=} o}
AABE A 20 4 x +/x =180°---@
AABDOA o +2x 42y =180°---@
O+@%E st¥

3(o + X) + (£Zx+ £y) = 360°

. 3X60°+ (LZx+ £y) =360°

. Lx+ Ly =180°




7. TR YA 90, 0 & 242 aABC 9 99, Wi delk, ¥
291 26171 212 Bm, 1em 2 T, AABC 9] 0] Ao| Fol72

lcm

@ 6cm @ 8cm ® 10cm @ 12cm (@)14(3111

~&B ~

AB 7} €0 ¢ AFolER

AABC = /C = 90° ¢l A7}z o)t
AABC o] YA Y O’ 7+ AB, BC, CA ¢ 34 242+ D,E,F &

st

BC = a(cm), AC = b(cm) 2t 519

BE =BD =a - 1(cm),AF = AD = b — 1(cm)
Oet ) AB=a-1+b-1=6°]2B&. a+b=38
L AABCO Edl=a+b+6=14




t}h& 187} Zro] /B = 90° o] AB = BC ¢l R Zto| S ¥ AZ}

[ R U_l—c_g
ABC 9 = Z2A A, C oA ZAH B 2 A= AA [ o Y
S0l g 747 D,E 2 otAk AD = 6cm, CE = 3cm , & o, DE
o] Zo]=?
A
\
\
\
\\ Z
6em E
A \3\cm
D |
B C

@ 2cm @)}3cm ® 4cm @ 5cm ® 6cm

AABD ¢} ABCE o]l A

/ADB = /BEC = 90°

AB = BC, /ABD = 90° - /EBC = /BCE
wtet AABD = ABCE (RHASHS) o|B2
BD = CE = 3(cm), BE = AD = 6(cm)
..DE=BE-BD = 6-3 = 3(cm)




A
D
I
B C
@ 35cm? @ 40cm?2 3 )45cm?
@ 50cm? ® 55cm?

B ~
AADC ¢} ACEB ©f| A

AC = CB, AD = CE, /DAC = /ECB = 60°

. AADC = ACEB(SASTH)

AADC = ACEB

OADFE + AFCE = AFBC + AFCE

.. OADFE = AFBC = 45 (cm?)




10.

474179 ABC o 9 O 7F WA NS o, 223

T-stoet,

@ (54 - 67) cm® @ (54 - 7Trr) cm?
® (54 — 87) cm?

® (54 - 107r) cm?

@(54 - 97) cm?

B

o 0 o] HHA|F 9] dolE rolzt st
%rx(9+15+12) = 5><9><12
.r=3(cm)

s (AR R o))

X9x12-3% X7 =54 - 9r (cm?)

1
2




